Practice Problem

The following table is a consumption schedule. Assume taxes and transfer payments are zero and that all saving is personal saving.

	GDP
	CONSUMPTION
	SAVINGS
	APC  
	APS  
	C+Ig
	C+Ig+G
	C+Ig+G+Xn

	1500
	1540
	 
	 
	 
	 
	 
	 

	1600
	1620
	 
	 
	 
	 
	 
	 

	1700
	1700
	 
	 
	 
	 
	 
	 

	1800
	1780
	 
	 
	 
	 
	 
	 

	1900
	1860
	 
	 
	 
	 
	 
	 

	2000
	1940
	 
	 
	 
	 
	 
	 

	2100
	2020
	 
	 
	 
	 
	 
	 

	2200
	2100
	 
	 
	 
	 
	 
	 


I. Fill in the Savings, APC, and APS columns in the above table. 

The break-even level of GDP is __________. The MPC is ______________ . The MPS is _____________.

 II. Fill the tables according to the following information and answer the questions.

a. If planned investment is 40, what is the new equilibrium GDP? __________________________________.

b. If government purchase is 20, what is the new equilibrium GDP? ________________________________.

c. This economy's export is 40, and import is 60, what is the new equilibrium GDP? ___________________.

 

III. Starting from the equilibrium GDP in (I), answer the following questions.

a. If planned investment is 30, what is the new equilibrium GDP? ________________________________.

b. If government purchase is 40, government has imposed a lump-sum tax of 40.

   What is the new equilibrium GDP?_____________________________.

c. This economy's export is 60, and import is 50, what is the new equilibrium GDP? _____________.

d. Is this government having a surplus? ________________ .Explain ____________________________ .

e. Is this economy having a trade surplus or deficit?________.     What is the size of the surplus or deficit? _________.
